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Instructions
* Answer ALL questions. Write your answers in the spaces provided.
* Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLO}, C2 ) ' [4 marks] -

- Simplify the expressions below:

(@) =59 —(Bg +3)
(b) 2n(=10n+5) — 7(6 — 10n)

Question 2
cLog, cg- ' [4 marks]
Work out what each of the bricks at the bottom simplify to, then add the two bricks next to each
other to give the brick above them. )* 5 (K 3)
"Ox+?>(7_+ +5 / , %U(CK“?“?&_[S
1A ¢ & etf'x 427 , = 4x4 20

O X ABF ,A)J,e/) =

mp‘{,\( 2 X 1%_#_\32 \f W+ 5 /r_§/1 7x—5 %‘ 547 -5
- 5% 4 37 32x+4) ¥ ® 4(x +5). KT 5(x —3) 2 2(x +5) _“(”‘
Question 3
cLot, C2 ' » e

Identify the value of y for the following equation given x = 1
_ 3x—-y=—(x-2y)+5

Question 4

CLO%, C3 [3 maxks]
You wish to receive an annuity of RM1000 a quarter for 5 years. The quarterly interest rate is
2.5%. What is the present value of the annuity?
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Instructions

= Answer ALL questions. Write your answers in the spaces provided.
= Show your working to get marks. You may use a non- programmable scientific calculator

Question 1

CLO}, C2

- Simplify the expressions below:

(a)

=59 = (39 +3)

(b) 2n(—=10n+5) —7(6 — 10n)

Question 2

cLo%, cg-

Work out what each of the bricks at the bottom simplify to, then add the two bricks next to each

other to give the brick above them.

[4 marks]
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CLO}, C3 TR [3 marks]

You wish to receive an annuity of RM1000 a quarter for 5 years. The quarterly interest rate is
2.5%. What is the present value of the annuity?
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